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RILETHRE AET—4% © ESft

CRITEB] 2012511 B 298 (BRERAT) / 20125128148 (BR&E#%)

E5
7T =5 S 7T = o
100cm lcm lcm 100cm lcm lcm
C’'8 0.44 0.49 0.95 0.25 0.26 0.64
B’ 1 0.43 0.65 1.62 0.27 0.37 1.00
B’ 2 0.55 0.85 2.70 0.25 0.31 1.00
B’3 0.48 0.55 1.40 0.23 0.27 0.86
B 4 0.45 0.53 1.47 0.29 0.36 1.20
B’5 0.46 0.58 1.30 0.26 0.27 0.68
B’ 6 0.46 0.60 2.60 0.27 0.35 1.10
B’ 7 0.55 0.58 1.15 0.28 0.32 0.90
B8 0.50 0.56 1.15 0.27 0.29 0.53
B’9 0.49 0.48 0.78 0.24 0.26 0.70
A1 0.43 0.53 1.06 0.24 0.32 0.85
A2 0.54 0.59 1.28 0.26 0.34 0.97
A’3 0.83 1.41 1.30 0.39 0.20 0.22
A4 0.69 1.42 0.40 0.47 0.80
A’'5 0.79 1.28 0.42 0.44 1.10
A'6 0.61 0.85 1.10 0.38 0.36 0.90
A7 0.64 0.76 0.72 0.38 0.39 0.76
A’'8 0.69 0.87 0.55 0.36 0.53 0.48
A9 0.48 0.50 0.92 0.25 0.23 0.57
A2 0.45 0.53 1.02 0.28 0.30 0.75
A3 0.51 0.63 1.46 0.32 0.39 0.42
A4 0.50 0.58 1.10 0.29 0.38 1.10
A5 0.46 0.62 1.24 0.29 0.32 1.00
A6 0.49 0.56 2.06 0.28 0.36 1.10
A7 0.49 0.56 1.52 0.29 0.34 0.94
A8 0.53 0.57 1.26 0.28 0.28 0.54
A9 0.48 0.46 0.86 0.24 0.20 0.30
B2 0.47 0.56 1.40 0.57 0.49 1.00
B3 0.62 1.28 3.14 0.43 0.23 0.51
B4 0.48 0.77 2.38 0.28 0.35 0.96
B5 0.51 0.55 1.27 0.31 0.29 0.90
B6 0.46 0.54 1.08 0.26 0.30 0.99
B7 0.50 0.57 1.32 0.27 0.29 1.30
B8 0.70 1.42 1.33 0.35 0.23 0.35




RILETHRE AET—4% © ESft

CRITEB] 2012511 B 298 (BRERAT) / 20125128148 (BR&E#%)

E5
7T = e 7T =3z s
100cm 1cm 1cm 100cm 1cm 1cm

B9 0.50 0.53 1.52 0.21 0.22 0.35
B10 0.48 0.53 1.27 0.23 0.24 0.46
B11 0.40 0.53 1.24 0.26 0.22 0.49
B12 0.42 0.53 1.45 0.24 0.28 0.59
B13 0.40 0.60 1.08 0.22 0.26 0.69
B14 0.41 0.52 1.29 0.19 0.27 0.53
B15 0.39 0.52 1.11 0.20 0.23 0.53
C2 0.43 0.53 1.10 - - - TI—L—kTF
C3 0.68 0.61 1.20 0.45 0.26 0.59 |E D%
C4 0.58 0.65 1.20 0.30 0.34 0.97
C5 0.54 0.63 1.30 0.29 0.36 1.10
C6 0.54 0.61 1.00 0.27 0.31 0.85
C7 0.52 0.50 1.00 0.27 0.26 0.73
C8 0.53 0.54 1.10 0.31 0.18 0.41
C9 0.51 0.64 1.60 0.20 0.19 0.46
c10 0.42 0.47 0.85 0.20 0.23 039 |IETF
ci15 0.40 0.51 1.40 0.19 0.18 0.49
D2 0.46 0.57 1.30 0.31 0.32 0.73
D3 0.49 0.57 1.30 0.27 0.25 0.44
D4 0.48 0.60 1.30 0.24 0.25 0.46
D5 0.46 0.54 1.40 0.22 0.20 0.42
D6 0.44 0.47 1.00 0.21 0.23 0.65
D7 0.42 0.46 0.90 0.20 0.23 0.71
D8 0.40 0.42 0.90 0.19 0.22 0.58
D9 0.40 0.48 1.10 0.23 0.23 0.49
D10 0.43 0.49 1.00 0.22 0.24 0.51
D11 0.41 0.57 1.20 0.22 0.24 0.52
D12 0.41 0.81 1.30 0.24 0.31 0.92
D13 0.40 0.53 1.30 0.21 0.22 0.49
D14 0.42 0.57 1.30 0.22 0.21 0.40
D15 0.41 0.47 1.30 0.21 0.22 0.44
E2 0.52 0.57 1.00 - - - TI——kTF
E3 0.77 1.87 2.10 0.40 0.34 053 | D=FY. Eff
E4 0.57 0.65 1.30 0.32 0.35 0.86




RILETHRE AET—4% © ESft

CRITEB] 2012511 B 298 (BRERAT) / 20125128148 (BR&E#%)

E5
7T = e 7T = F
100cm 1cm 1cm 100cm 1cm 1cm

E5 0.48 0.52 1.10 0.23 0.30 1.00
E6 0.52 0.59 1.20 0.19 0.18 0.34
E7 0.48 0.62 1.00 0.20 0.22 0.33
E15 0.41 0.51 3.10 0.20 0.27 0.69 |7 R77ILk
F1 0.44 0.63 1.60 0.42 0.61 1.16
F2 0.52 0.61 1.50 0.44 0.47 0.61
F3 0.50 0.63 1.30 0.44 0.50 0.69 |E Dl
F4 0.50 0.57 1.60 0.45 0.55 0.17 |EED I
F5 0.53 1.01 1.10 0.46 0.52 0.87
F6 0.74 0.73 1.10 0.65 0.68 0.53 |EH#iD iz B AREFY)
F15 0.50 0.57 1.20 0.31 0.31 043 |7 RT7ILE
G2 0.55 0.52 0.60 0.52 0.42 0.34
G3 0.68 1.82 0.85 0.58 0.52 0.23 | L%V (EDH)
G4 0.79 1.34 1.20 0.55 0.52 0.37 |EEH DR
G5 0.51 0.65 1.10 0.46 0.57 0.78
G6 0.58 0.64 1.10 0.44 0.38 0.32
G7 0.48 0.57 1.20 0.31 0.29 0.23
G15 0.55 0.66 1.20 0.32 0.33 0.60 |7 R77ILk
H5 0.50 0.55 1.00 0.42 0.42 0.63
H6 0.63 0.43 0.40 0.63 0.54 036 |EDHA L
H7 0.49 0.55 1.20 0.34 0.30 0.23
H8 0.44 0.37 0.27 0.38 0.33 0.22
H9 0.50 0.90 1.30 0.33 0.36 0.27 |E¥l(¥—h—L)
H10 0.48 0.66 0.45 0.41 0.44 031 |~
H11 0.48 0.69 0.40 0.30 0.31 023 |~
H12 0.51 0.76 0.50 0.37 0.43 039 |~
H13 0.47 0.60 0.40 0.31 0.32 027 |~
H14 0.43 0.30 0.25 0.26 0.23 0.17 iZEJAVY
H15 0.39 0.46 1.30 0.30 0.30 0.40 |7 R77ILk
15 0.46 0.59 1.20 0.42 0.45 0.60 |7 R77ILk
16 0.51 0.54 0.50 0.48 0.45 035 |[L>ATRvy
17 0.53 0.56 0.50 0.42 0.35 0.26 | »
18 0.51 0.57 0.45 0.41 0.41 0.28 | »
19 0.58 1.68 3.40 0.31 0.39 029 iZEJTAVY




RILETHRE AET—4% © ESft

CRITEB] 2012511 B 298 (BRERAT) / 20125128148 (BR&E#%)

E5
7T = e 7T =3z s
100cm lcm 1cm 100cm 1cm 1cm
110 0.56 1.13 1.10 0.31 0.31 022 |~
111 0.59 0.74 1.20 0.33 0.33 025 |~
112 0.58 0.55 0.90 0.35 0.30 022 |~
113 0.57 0.65 1.40 0.36 0.39 047 |n
114 0.48 0.56 1.10 0.29 0.29 029 | »
115 0.42 0.46 1.40 0.33 0.33 034 |7 RT7ILE
J4 0.35 0.46 0.40 0.37 0.43 0.65 |21V (27 BY. HEBY) KAEERK
J5 0.43 0.79 1.00 0.41 0.47 073 |7RI7ILE(BINBEEY)
J6 0.46 0.85 1.70 0.41 0.46 0.80 | »
J7 0.57 0.67 0.70 0.43 0.42 0.70 | »
Js 0.51 0.76 0.70 0.45 0.43 071 | »
J9 0.48 0.60 0.90 0.40 0.41 064 |~
J10 0.48 0.59 0.90 0.38 0.46 1.09 | »
J11 0.45 0.61 0.90 0.35 0.42 063 |~
J12 0.45 0.58 0.90 0.36 0.41 0.69 |21)L (3 EY)
J13 0.52 0.60 0.80 0.35 0.30 029 |~
J14 0.59 0.51 0.50 0.50 0.38 046 |21 )L (3 BY. HEHFY)
J15 0.47 0.54 1.10 0.45 0.39 048 |7 R77ILk
J16 0.40 0.40 0.30 0.59 0.55 0.32 | Ef (3 E)
K4 0.35 0.46 0.60 0.40 0.50 1.01 |24 L (ABEERR)
K5 0.47 0.63 1.20 0.42 0.52 071 |7RZ7ILL(EINBEEY)
K6 0.47 0.59 1.00 0.40 0.42 078 |21 (a4 EY)
K7 0.61 0.60 0.90 0.53 0.48 053 |~
K8 0.60 0.69 0.90 0.48 0.49 063 |~
K9 0.57 0.60 0.80 0.50 0.50 063 |~
K10 0.58 0.64 0.90 0.48 0.43 062 |~
K11 0.61 0.70 1.10 0.46 0.47 073 |21 L (3 BY.  HEHFY)
K12 0.60 0.63 0.70 0.50 0.54 064 |~
K13 0.59 0.60 0.80 0.44 0.31 0.36 | »
K14 0.56 0.57 0.70 0.46 0.27 021 |~
K14’ 0.80 0.73 0.40 0.74 1.03 0.54 |fEHER
L4 0.61 0.66 1.00 0.58 0.74 1.02 |24 (7 BY. HERY)
L5 0.46 0.73 1.00 0.40 0.50 0.60 |7RXZ7ILL(BEINBEEY)
L6 0.49 0.58 1.00 0.41 0.47 055 |~




RILETHRE AET—4% © ESft

CRITEB] 2012511 B 298 (BRERAT) / 20125128148 (BR&E#%)

E5
7T = e 7T = s
100cm 1cm 1cm 100cm 1cm 1cm

L7 0.50 0.62 1.00 0.42 0.45 058 |~

L8 0.49 0.61 0.80 0.39 0.41 0.49 | »

L9 0.49 0.59 1.90 0.43 0.44 0.49 | #

L10 0.48 0.68 1.20 0.38 0.48 073 |21 L (O EY)
L11 0.50 0.65 1.20 0.39 0.47 0.71 | »

L12 0.57 0.66 1.40 0.46 0.57 0.63 |21 /L

L13 0.66 0.65 1.00 0.47 0.34 031 |~

L14 0.60 0.64 0.80 0.50 0.35 0.26 |21IL (a4 EY)
L14’ 0.78 0.82 0.40 0.79 0.83 0.43 |1EEER

M4 0.41 0.68 0.60 0.40 0.74 0.74 |21 L (FEFERY)
M5 0.39 0.45 0.80 0.40 0.43 0.65 |7 RX77ILk

M6 0.50 0.74 1.30 0.47 0.54 089 | » (BIhBHEY)
M7 0.44 0.46 0.80 0.41 0.48 068 |7 RX77ILk

M8 0.45 0.52 1.00 0.41 0.60 0.75 | »

M9 0.44 0.47 0.90 0.42 0.41 071 |~

M10 0.45 0.47 0.70 0.43 0.44 054 | n

M11 0.44 0.46 0.90 0.38 0.46 064 |~

M12 0.46 0.65 1.10 0.42 0.53 069 |~

M13 0.52 0.56 1.70 0.38 0.34 034 |21 )L (3 EY)
M14 0.55 0.52 0.50 0.44 0.28 0.18 | »

M14’ 0.79 0.87 0.50 0.71 0.82 0.48 |fEHE A

N4 0.45 0.55 0.80 0.47 0.61 090 |7R77ILE (HEHY)
N5 0.44 0.55 0.90 0.37 0.43 0.40 |7 RX77ILk

N6 0.50 0.68 0.80 0.50 0.62 094 |~

N7 0.53 0.76 0.90 0.50 0.45 0.49 | #

N8 0.69 0.91 1.20 0.62 0.69 1.00 | »

N9 0.60 0.71 0.90 0.49 0.56 0.66 |

N10 0.59 0.77 1.20 0.53 0.55 0.79 | » (WHEFRY. ATEMBEZAA)
N11 0.63 0.59 0.80 0.53 0.42 042 | (FEEFY)
N12 0.43 0.50 1.10 0.40 0.41 0.60 |~

N13 0.43 0.51 0.90 0.40 0.47 045 |7 RAT7ILk
N14 0.53 0.50 0.60 0.50 0.32 0.25 |21 L

N14’ 0.75 0.92 0.50 0.80 1.01 041 |TEEER

o11 0.62 1.22 2.00 0.55 0.39 034 |7R77ILk




RILETHRE AET—4% © ESft

CRITEB] 2012511 B 298 (BRERAT) / 20125128148 (BR&E#%)

Es
oo =z ey~ 7o =z ey
100cm lcm 1cm 100cm 1cm lcm
012 0.43 0.45 0.90 0.43 0.42 0.56 | »
013 0.41 0.53 0.90 0.42 042 0.38 |
014 0.50 0.85 0.80 0.54 0.75 041 |n
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RITET®RIE MET—2 @ FTER1KE

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

e
SHESAT sHEIA % By B i PSS e
(1a) TRBEE 1m 1 Sv/h 0.12 0.14
=ap; ERIMEE 1cm £ Sv/h 0.13 0.13
e . BmE 180
B EiggE [FREE lom | cpm
aYA—4 cpm
(1b) TREEE 1m U Sv/h 0.19 0.14
Z= 1Al ERIMEE 1cm £ Sv/h 0.15 0.12
e — = - BE 1 80
B EiagE [FReE lom | cpm
aYA—4 cpm
(2a) TREEE 1m U Sv/h 0.13 0.12
=af; ] ERIMEE 1cm £ Sv/h 0.13 0.12
HFERSE REEE 1cm cpm 92
aY A=A cpm
(2b) TREEE 1m U Sv/h 0.20 0.18
Z= Al ERIMEE 1cm 1 Sv/h 0.13 0.12
HFERE REEE 1cm cpm 117
aYA—4 cpm
(3a) TREEE 1m U Sv/h 0.12
=af: ] ERIMEE 1cm 1 Sv/h 0.13
. . B 172
g—fRiEgE | Ogs lom | opm
aYA—4 cpm
(3b) TREEE 1m U Sv/h 0.19 0.15
Z= 1Al ERIMEE 1cm £ Sv/h 0.15 0.12
U I HEE A 124
g R | aEs lom | opm
aYA—4 cpm
C) TREEE 1m U Sv/h 0.12 0.12
=af; ] ERIMEE 1cm 1 Sv/h 0.10 0.12
P~ RKEAZE 1cm cpm 96
aYA—4 cpm
(5) TREEE 1m 1 Sv/h 0.12 0.12
=af; ERIMEE 1cm 1 Sv/h 0.12 0.13
ZTRALE) REFHE 1cm cpm 190
aYA—4 cpm
(6) TREEE 1m U Sv/h 0.10 0.12
=af: 3 ERIMEE 1cm £ Sv/h 0.15 0.15
o FE A 205
BEIALGEE) [FBEE lom opm
aYA—4 cpm
(7a) TREEE 1m U Sv/h 0.12 0.11
=af: ERIMEE 1cm £ Sv/h 0.13 0.12
_ . ZE
e REFHE 1cm cpm 174

aYr—4

cpm




RITET®RIE MET—2 @ FTER1KE

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

rEd1E
SHES AR SR B B i Mgk wE
(7b) EREIREER 1m 1 Sv/h 0.18 0.13
E ZERFREER 1om 1 Sv/h 0.13 0.14
b |[AEE lom | opm 142
aYA—4 cpm
(8a) EREIREER 1m 1 Sv/h 0.14 0.12
R ZERFREER 1om 1 Sv/h 0.13 0.12
FRkEE REZEE 1cm cpm 253
aYA—4 cpm
(8b) EREIREER 1m 1 Sv/h 017 0.14
2= ZERFREER 1om 1 Sv/h 0.13 0.12
ERkER FEZEE 1cm cpm 148
aYA—4 cpm
9 EEREE Im 1 Sv/h 0.14 0.12
R ZERFREER 1om 1 Sv/h 0.13 0.12
KES 1= FEZEE 1cm cpm 135
aYA—4 cpm
(10) EHEHREE Im 1 Sv/h 0.09 0.09
R ZERFREER 1om 1 Sv/h 0.08 0.09
- RKEAZE 1cm cpm 77
aYA—4 cpm
(11) EEREE Im 1 Sv/h 0.12 0.15
R ZERFREER 1om 1 Sv/h 0.15 0.16
Mk == REZE 1cm cpm 230
aY A=A cpm
(12) EEHREE Im 1 Sv/h 0.11 0.13
R ZERFREER 1om 1 Sv/h 0.12 0.15
goimom REZFHE 1cm cpm 270
Y A=A cpm
(13) EEREFE Im 1 Sv/h 0.13 0.11
R ZERFREER 1om 1 Sv/h 0.13 0.13
LBl REFHE 1cm cpm 225
aYA—4 cpm
(14a) EEREE Im 1 Sv/h 0.14 0.14
R ZERFREER 1om 1 Sv/h 0.16 0.15
HFhAL(aR) DR fom opm 228
aYA—4 cpm
(14b) EEHREE Im 1 Sv/h 0.23 0.14
E ZERFREE 1om 1 Sv/h 0.16 0.16
HFRAL(aR) DR fom opm 1150
aYA—4 cpm

10




RITET®RIE MET—2 @ FTER1KE

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

e
SHESAT sHEIA % By B i PSS e
(15a) TRIBMEE 1m 1 Sv/h 0.14 0.12
=af; ERIMEE 1cm 1 Sv/h 0.16 0.15
B A L(AE) REEE 1cm cpm 2125
aYA—4 cpm
(15b) TRIBMEE 1m £ Sv/h 0.22 0.14
=4 ERIMEE 1cm £ Sv/h 0.18 0.15
B AL E) REEE 1cm cpm 206
aYA—4 cpm
(16) TREEE 1m U Sv/h 0.12 0.11
=af; ERIMEE 1cm 1 Sv/h 0.12 0.13
Ao RKEAZE 1cm cpm 197
aYA—4 cpm
(17a) TREEE 1m U Sv/h 0.17 0.18
=af; ] ERIMEE 1cm £ Sv/h 0.21 0.18
AR REZFEE 1cm cpm 405
aYA—4 cpm
(17b) TREEE 1m U Sv/h 0.21 0.19
=4 ERIMEE 1cm 1 Sv/h 0.34 0.28
AR REFHE 1cm cpm 283
aYA—4 cpm
(18a) TREEE 1m U Sv/h 0.14 0.14
=af; ] ERIMEE 1cm £ Sv/h 0.15 0.14
— FE A 342
ppE  [SOEE lom opm
aYA—4 cpm
(18b) TREEE 1m U Sv/h 0.18 0.15
=4 ERIMEE 1cm £ Sv/h 0.14 0.14
— FE A 137
pgE  |[SOEE lom cpm
aYA—4 cpm
(19a) TREEE 1m U Sv/h 0.14 0.14
=af; ERIMEE 1cm 1 Sv/h 0.15 0.13
- HEE 1 197
REEpE |[CDBE fom | opm
aYA—4 cpm
(19b) TREEE 1m U Sv/h 0.15 0.14
=4 ERIMEE 1cm 1 Sv/h 0.13 0.14
- HE 1 140
REERE |[SDBE lom | opm
aYA—4 cpm
(20a) TREEE 1m U Sv/h 0.14 0.13
=af: ERIMEE 1cm 1 Sv/h 0.15 0.14
. ZE
ERAEE REFHE 1cm cpm 230

aYr—4

cpm

11




RITET®RIE MET—2 @ FTER1KE

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

rEd1E
SRS AT SR B B i Mgk wE
(20b) ZEREIREER 1m 1 Sv/h 0.18 0.11
E ZERFREER 1om 1 Sv/h 0.15 0.13
pRAeEE  |[LAEE lom opm 112
aYA—4 cpm
(21a) EREIREER 1m 1 Sv/h 0.18 0.16
R ZERFREER 1om 1 Sv/h 0.18 0.16
o REZFE 1cm cpm 222
aYA—4 cpm
(21b) EEREE Im 1 Sv/h 0.37 0.18
2= ZERFREER 1om 1 Sv/h 0.22 0.17
o REZFEE 1cm cpm 273
aYA—4 cpm
(22) EEREE Im 1 Sv/h 0.15 0.14
R ZERFREER 1om 1 Sv/h 0.18 0.17
ZEHR—IL REZFEE 1cm cpm 240
aYA—4 cpm
(23) EHEHREE Im 1 Sv/h 0.16 0.14
R ZERFREER 1om 1 Sv/h 0.20 0.16
BT RR—)L 1 REFHE 1cm cpm 204
aYA—4 cpm
(24) ZEEREE Im 1 Sv/h 0.15 0.14
PR ZERFREER 1om 1 Sv/h 0.18 0.16
B R— L2 REZEE 1cm cpm 275
aYA—4 cpm
(25a) EEHREE Im 1 Sv/h 0.16 0.16
R ZERFREER 1om 1 Sv/h 0.17 0.18
B RAR—/L3 REFHE 1cm cpm 362
aYA—4 cpm
(25b) EEREFE Im 1 Sv/h 0.38 0.25
E ZERFREER 1om 1 Sv/h 0.22 0.20
B RAR—/L3 REFHE 1cm cpm 304
aYA—4 cpm
(26a) EEREE Im 1 Sv/h 0.16 0.12
PR ZERFREER 1om 1 Sv/h 0.16 0.12
B E AOET REZFE 1cm cpm 130
aYA—4 cpm
(26b) EHEHREE Im 1 Sv/h 0.16 0.15
E ZERFREER 1om 1 Sv/h 0.16 0.16
B E AOET REFHE 1cm cpm 215
aYA—4 cpm

12




RITET®RIE MET—2 @ FTER1KE

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

rEd1E
SHES AR SR B B i Mgk wE
(27a) ZEREIREER 1m 1 Sv/h 0.22 0.20
PR ZERFREER 1om 1 Sv/h 0.25 0.23
B 2 % B REZE 1cm cpm 382
aYA—4 cpm
(27b) EREIREER 1m 1 Sv/h 0.22 0.26
E ZERFREER 1om 1 Sv/h 0.31 0.40
B 2 2B REZFE 1cm cpm 422
aYA—4 cpm
(28a) EEREE Im 1 Sv/h 0.16 0.14
R ZERFREER 1om 1 Sv/h 0.15 0.13
Em= REZFEE 1cm cpm 122
aYA—4 cpm
(28b) EEREE Im 1 Sv/h 0.28 0.25
2= ZERFREER 1om 1 Sv/h 0.15 0.15
Em= REZFEE 1cm cpm 166
aYA—4 cpm

13
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RITET®RIE MET—2 O FTEB2b

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

r&H2p
SRS AT SR B B i Mgk wE
(1a) EREIREER 1m 1 Sv/h 0.16 0.15
R ZERFREER 1om 1 Sv/h 0.19 0.17
ERR(E) FEZEE 1cm cpm 399
aYA—4 cpm
(1b) EHEREE Im 1 Sv/h 0.25 0.25
2= ZERFREER 1om 1 Sv/h 0.19 0.18
ERR(E) FEZEE 1cm cpm 755
aYA—4 cpm
(2a) EHEHREFE Im 1 Sv/h 0.12 0.13
R ZERFREER 1om 1 Sv/h 0.14 0.13
BT REZFEE 1cm cpm 125
aY A=A cpm
(2b) EHEHREE Im 1 Sv/h 0.25 0.11
E ZERFREER 1om 1 Sv/h 0.19 0.11
BT REZFHE 1cm cpm 755
aYA—4 cpm
(3) ZEHEHREE Im 1 Sv/h 0.13
R ZERFREER 1om 1 Sv/h 0.13
B R () REZFE 1cm cpm 122
aYA—4 cpm
¢y EHEHREE Im 1 Sv/h 0.13 0.13
R ZERFREER 1om 1 Sv/h 0.12 0.13
EF () REZFHE 1cm cpm 109
aYA—4 cpm
(5a) EHEHREE Im 1 Sv/h 0.14 0.14
R ZERFREER 1om 1 Sv/h 0.13 0.14
o RKEAZE 1cm cpm 177
aYA—4 cpm
(5b) EHEHREE Im 1 Sv/h 0.18 0.17
2= ZERFREER 1om 1 Sv/h 0.15 0.14
o RKEAZE 1cm cpm 147
aYA—4 cpm
(6) EHEREFE Im 1 Sv/h 0.10 0.12
PR ZERFREER 1om 1 Sv/h 0.12 0.15
goimom REFHE 1cm cpm 200
aYA—4 cpm
(7a) EHEHREFE Im 1 Sv/h 0.12 0.12
R ZERFREER 1om 1 Sv/h 0.12 0.13
L FRAL REFHE 1cm cpm 180
aYA—4 cpm

15




RITET®RIE MET—2 O FTEB2b

CRIE B] 20124511 298 (BREH0) / 20128128148 (BR$E1%)

r&H2p
SHES AR SR B B i Mgk wE
(7b) EREIREER 1m 1 Sv/h 0.11 0.15
E ZERFREER 1om 1 Sv/h 0.11 0.15
L FRAL FEZEE 1cm cpm 180
aYA—4 cpm
(8a) EREIREER 1m 1 Sv/h 0.10 0.13
R ZERFREER 1om 1 Sv/h 0.12 0.13
BEA(L FEZEE 1cm cpm 210
aYA—4 cpm
(8b) EREIREER 1m 1 Sv/h 0.12 0.14
2= ZERFREER 1om 1 Sv/h 0.11 0.13
BEA(L FEZEE 1cm cpm 160
aYA—4 cpm
(9a) EEREE Im 1 Sv/h 0.09 0.11
R ZERFREER 1om 1 Sv/h 0.10 0.12
S FEZEE 1cm cpm 120
aYA—4 cpm
(9b) EHEHREE Im 1 Sv/h 0.10 0.12
2= ZERFREER 1om 1 Sv/h 0.10 0.12
S REZFE 1cm cpm 120
aYA—4 cpm
(10) EEREE Im 1 Sv/h 0.08 0.09
R ZERFREER 1om 1 Sv/h 0.09 0.10
AEEsE  |SAEE lom | opm 50
aY A=A cpm
(11a) EEHREE Im 1 Sv/h 0.10 0.12
R ZERFREER 1om 1 Sv/h 0.11 0.12
BEe REZFHE 1cm cpm 170
Y A=A cpm
(11b) EEREFE Im 1 Sv/h 0.11 0.12
E ZERFREER 1om 1 Sv/h 0.10 0.12
BEe REFHE 1cm cpm 110
aYA—4 cpm
(12a) EEREE Im 1 Sv/h 0.08 0.12
R ZERFREER 1om 1 Sv/h 0.09 0.12
SRS REFHE 1cm cpm 50
aYA—4 cpm
(12b) EEHREE Im 1 Sv/h 0.12 0.15
E ZERFREE 1om 1 Sv/h 0.12 0.13
SRS REFHE 1cm cpm 120
aYA—4 cpm

16




RITET®RIE MET—2 O FTEB2b

CRIE B] 20124511 298 (BREH0) / 20128128148 (BR$E1%)

rEE2m
SHBIE AT sHEIA % By B i PSS e
(13a) TRIBMEE 1m 1 Sv/h 0.10 0.13
=af; ERIMEE 1cm 1 Sv/h 0.12 0.13
2042 REZE 1cm cpm 80
aYA—4 cpm
(13b) TRIBMEE 1m £ Sv/h 0.11 0.12
=4 ERIMEE 1cm £ Sv/h 0.11 0.12
2042 REZFE 1cm cpm 100
aYA—4 cpm
(14a) TREEE 1m U Sv/h 0.10 0.13
=af; ERIMEE 1cm 1 Sv/h 0.12 0.13
2034 = REZFEE 1cm cpm 130
aYA—4 cpm
(14b) TREEE 1m U Sv/h 0.12 0.14
=4 ERIMEE 1cm £ Sv/h 0.11 0.13
2034= REZFEE 1cm cpm 130
aYA—4 cpm
(15a) TREEE 1m U Sv/h 0.10 0.14
=af; ] ERIMEE 1cm 1 Sv/h 0.10 0.13
2024 REFHE 1cm cpm 120
aYA—4 cpm
(15b) TREEE 1m U Sv/h 0.13 0.15
=4 ERIMEE 1cm £ Sv/h 0.10 0.13
2028EE REHE lom cpm 80
aYA—4 cpm
(16a) TREEE 1m U Sv/h 0.12 0.12
=af; ERIMEE 1cm £ Sv/h 0.13 0.12
AE= RKEAZE 1cm cpm 80
aYA—4 cpm
(16b) TREEE 1m U Sv/h 0.18 0.13
=4 ERIMEE 1cm 1 Sv/h 0.14 0.12
BT E 5= REFHE 1cm cpm 140
aYA—4 cpm
(17a) TREEE 1m U Sv/h 0.14 0.14
=af; ERIMEE 1cm 1 Sv/h 0.16 0.17
i REZFE 1cm cpm 220
aYA—4 cpm
(17b) TREEE 1m U Sv/h 0.15 0.14
=4 ERIMEE 1cm 1 Sv/h 0.14 0.14
i REFHE 1cm cpm 180
aYA—4 cpm

17




RITET®RIE MET—2 O FTEB2b

CRIE B] 20124511 298 (BREH0) / 20128128148 (BR$E1%)

rEE2m
SHESAT sHEIA % By B i PSS e
(18a) TRIBMEE 1m £ Sv/h 0.17 0.13
=af; ERIMEE 1cm 1 Sv/h 0.14 0.14
SE S REZE 1cm cpm 160
aYA—4 cpm
(18b) TRIBMEE 1m £ Sv/h 0.18 0.15
=4 ERIMEE 1cm £ Sv/h 0.14 0.14
SE S REZFE 1cm cpm 130
aYA—4 cpm
(19a) TREEE 1m U Sv/h 0.15 0.15
=af; ERIMEE 1cm 1 Sv/h 0.14 0.16
S REZFEE 1cm cpm 150
iR
aYA—4 cpm
(19b) TREEE 1m U Sv/h 0.16 0.13
=4 ERIMEE 1cm £ Sv/h 0.14 0.13
S REZFEE 1cm cpm 180
l\:"E.‘\T%E%
aYA—4 cpm
(20a) TREEE 1m U Sv/h 0.15 0.13
=af; ] ERIMEE 1cm 1 Sv/h 0.14 0.16
P E =R REFHE 1cm cpm 130
aYA—4 cpm
(20b) TREEE 1m U Sv/h 0.16 0.13
=4 ERIMEE 1cm £ Sv/h 0.15 0.13
P E R REZEE 1cm cpm 130
aYA—4 cpm
(21) TREEE 1m U Sv/h 0.14 0.11
=af; ERIMEE 1cm £ Sv/h 0.12 0.13
BE= REFHE 1cm cpm 140
aYA—4 cpm
(22a) TREEE 1m U Sv/h 0.14 0.13
=af; ERIMEE 1cm 1 Sv/h 0.14 0.14
. BmE
po1amE |NBEE lom cpm 160
aYA—4 cpm
(22b) TREEE 1m U Sv/h 0.16 0.14
=4 ERIMEE 1cm 1 Sv/h 0.13 0.13
. BmE
po1amE |NBEE lom cpm 140
aYA—4 cpm
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RITET&RIE MET—2 @ TEER3ME

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

r&H3RE
SHES AR SR B B i Mgk wE
(1) EREIRER 1m 1 Sv/h 0.10 0.12
R ZERFREER 1om 1 Sv/h 0.10 0.12
sma = REZE 1cm cpm 100
aYA—4 cpm
(2a) EREIREER 1m 1 Sv/h 0.10 0.13
R ZERFREER 1om 1 Sv/h 0.12 0.13
L FRAL FEZEE 1cm cpm 150
aYA—4 cpm
(2b) EREIREER 1m 1 Sv/h 0.15 0.14
E ZERFREER 1om 1 Sv/h 0.10 0.13
L FRAL FEZEE 1cm cpm 155
aYA—4 cpm
(3a) EHEHREE Im 1 Sv/h 0.13 0.12
R ZERFREER 1om 1 Sv/h 0.12 0.13
BEAL FEZEE 1cm cpm 180
aYA—4 cpm
(3b) EEHREE Im 1 Sv/h 0.13
=4 ERIMEE 1cm U Sv/h 0.12
BEAAL REFEE 1cm cpm 182
aY A=A cpm
(4a) EEREE Im 1 Sv/h 0.10 0.13
R ZERFREER 1om 1 Sv/h 0.11 0.12
B REE REZFHE 1cm cpm 152
aYA—4 cpm
(4b) EEREE Im 1 Sv/h 0.14 0.14
E ZERFREER 1om 1 Sv/h 0.13 0.14
e REFHE 1cm cpm 150
aYA—4 cpm
(5a) EEHREE Im 1 Sv/h 0.10 0.12
R ZERFREER 1om 1 Sv/h 0.10 0.11
302%EE REEE lom cbm 0
aYA—4 cpm
(5b) EEHREE Im 1 Sv/h 0.12 0.12
=1 ZERFREER 1om 1 Sv/h 0.09 0.11
302%EBE REEE lom cbm 0
aYA—=4 cpm
(6a) EHEHREE Im 1 Sv/h 0.11 0.12
PR ZERFREE 1om 1 Sv/h 0.11 0.12
RKEAZE 1cm cpm 110

301£H=E

aYr—4

cpm




RITET&RIE MET—2 @ TEER3ME

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

r&E3R
SHBIE AT sHEIA % By B i PSS e
(6b) TRBMEE 1m £ Sv/h 0.12 0.12
=4 ERIMEE 1cm £ Sv/h 0.10 0.12
301288 REZFEE 1cm cpm 105
aYA—4 cpm
(7a) TRIBEE 1m £ Sv/h 0.12 0.10
=af; ERIMEE 1cm 1 Sv/h 0.12 0.11
#EEE REZEE 1cm cpm 137
aYA—4 cpm
(7b) TRIBEE 1m £ Sv/h 0.13 0.12
=4 ERIMEE 1cm 1 Sv/h 0.13 0.12
wEES KEAZE 1cm cpm 88
aYA—4 cpm
(8a) TREEE 1m U Sv/h 0.10 0.12
=af; TRIMEE 1cm 1 Sv/h 0.11 0.12
HEESS REZFE 1cm cpm 138
aYA—4 cpm
(8b) TREEE 1m U Sv/h 0.13 0.13
=4 ERIMEE 1cm 1 Sv/h 0.11 0.13
HEESS REZFE 1cm cpm 92
aYA—4 cpm
(9a) TREEE 1m U Sv/h 0.12 0.14
=af; ERIMEE 1cm 1 Sv/h 0.11 0.14
o KEZE 1cm cpm 155
aY A=A cpm
(9b) TREEE 1m U Sv/h 0.16 0.15
=4 ERIMEE 1cm £ Sv/h 0.14 0.13
o KEZRE 1cm cpm 145
Y A=A cpm
(10) TREEE 1m U Sv/h 0.11 0.12
=af; ERIMEE 1cm £ Sv/h 0.13 0.12
oy HE A 152
FEinmLE REEE Tom cpm
aYA—4 cpm
(11) TREEE 1m U Sv/h 0.10 0.10
=af: ERIMEE 1cm 1 Sv/h 0.10 0.11
- RKEAZE 1cm cpm 118
aYA—4 cpm
(12a) TREEE 1m U Sv/h 0.12 0.12
=af: ERIMEE 1cm £ Sv/h 0.12 0.12
prxas REFHE 1cm cpm 112
aYA—4 cpm
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RITET&RIE MET—2 @ TEER3ME

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

r&E3R
SHESAT sHEIA % By B i PSS e
(12b) TRIBMEE 1m 1 Sv/h 0.14 0.14
=4 ERIMEE 1cm 1 Sv/h 0.11 0.14
Erxgs REZE 1cm cpm 148
aYA—4 cpm
(13a) TRIBMEE 1m £ Sv/h 0.10 0.13
=af; ] ERIMEE 1cm £ Sv/h 0.12 0.13
N FE A 157
Erpme |[CBEE lom cpm
aYA—4 cpm
(13b) TREEE 1m U Sv/h 0.14 0.14
=4 ERIMEE 1cm 1 Sv/h 0.11 0.13
N FE A 111
Erpme |[CBEE lom cpm
aYA—4 cpm
(14a) TREEE 1m U Sv/h 0.11 0.13
=af; ] ERIMEE 1cm £ Sv/h 0.12 0.12
iy —s REZFEE 1cm cpm 112
aYA—4 cpm
(14b) TREEE 1m U Sv/h 0.13 0.14
ERIMEE 1cm 1 Sv/h 0.13 0.13
i —s REFHE 1cm cpm 148
aYA—4 cpm
(15a) TREEE 1m U Sv/h 0.11 0.13
=af; ] ERIMEE 1cm £ Sv/h 0.10 0.12
seapio REZEE 1cm cpm 173
aYA—4 cpm
(15b) TREEE 1m U Sv/h 0.13 0.14
=4 ERIMEE 1cm £ Sv/h 0.13 0.13
sespio REFHE 1cm cpm 135
aYA—4 cpm
(16a) TREEE 1m U Sv/h 0.12 0.13
=af; ERIMEE 1cm 1 Sv/h 0.12 0.13
P KEZE 1cm cpm 69
aYA—4 cpm
(16b) TREEE 1m U Sv/h 0.14 0.13
=4 ERIMEE 1cm 1 Sv/h 0.12 0.13
P KEZE 1cm cpm 142
aYA—4 cpm
17) TREEE 1m U Sv/h 0.10 0.11
=af: ERIMEE 1cm 1 Sv/h 0.10 0.11
HEIEE REFHE 1cm cpm 104

aYr—4

cpm




RITET&RIE MET—2 @ TEER3ME

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

r&H3RE
SRS AT SR B B i Mgk wE
(18a) ZEREIREER 1m 1 Sv/h 0.13 0.13
PR ZERFREER 1om 1 Sv/h 0.12 0.12
B R (E) REZE 1cm cpm 140
aYA—4 cpm
(18b) EREIREER 1m 1 Sv/h 0.20 0.15
E ZERFREER 1om 1 Sv/h 0.15 0.15
ERF(E) REZFE 1cm cpm 162
aYA—4 cpm
(19a) EEREE Im 1 Sv/h 0.11 0.12
R ZERFREER 1om 1 Sv/h 0.11 0.13
L) REZFEE 1cm cpm 123
aYA—4 cpm
(19b) EEREE Im 1 Sv/h 0.13 0.12
2= ZERFREER 1om 1 Sv/h 0.11 0.11
BT REZFEE 1cm cpm 130
aYA—4 cpm
(20a) EHEHREE Im 1 Sv/h 0.12 0.13
R ZERFREER 1om 1 Sv/h 0.12 0.13
B R () REFHE 1cm cpm 141
aYA—4 cpm
(20b) ZEEREE Im 1 Sv/h 0.17 0.13
2= ZERFREER 1om 1 Sv/h 0.17 0.13
B R () REZEE 1cm cpm 117
aYA—4 cpm
(21a) EEHREE Im 1 Sv/h 0.12 0.12
R ZERFREER 1om 1 Sv/h 0.12 0.13
EF () REFHE 1cm cpm 147
aYA—4 cpm
(21b) EEREFE Im 1 Sv/h 0.18 0.15
E ZERFREER 1om 1 Sv/h 0.14 0.15
B R () REFHE 1cm cpm 149
aYA—4 cpm
(22) EEREE Im 1 Sv/h 0.29 0.18
PR ZERFREER 1om 1 Sv/h 0.45 0.24
Yo R (ED) KREEE 1cm cpm 1860 250
aYA—4 cpm
(23) EHEHREE Im 1 Sv/h 0.26 0.17
R ZERFREER 1om 1 Sv/h 0.44 0.21
YR () KREEE 1cm cpm 475 300
aYA—4 cpm

23




GRIIETRIE NEEeYy7d — FE#3K |

<3KE>

= |""\{-’1

1EEE

(6a)

I o ‘(‘& =

)

=

EBTAL) g (19a)
. B (19b)™
TN T

=L LT

E)i
!

a
f
¢ ;
SR\
; “EAY g :

24

E P TS

(1




RITET®RIE MET—2 © TER4AE

CRIE B] 2012411 298 (BREH0) / 20125128148 (BR$E%)

r&Edam
SRS AT SR B B i Mgk wE
(1a) EREIREER 1m 1 Sv/h 0.14 0.13
R ZERFREER 1om 1 Sv/h 0.12 0.13
FEEES FEZEE 1cm cpm 160
aYA—4 cpm
(1b) EHEREE Im 1 Sv/h 0.15 0.13
2= ZERFREER 1om 1 Sv/h 0.13 0.12
FEEES FEZEE 1cm cpm 130
aYA—4 cpm
(2a) EHEHREFE Im 1 Sv/h 0.15 0.10
R ZERFREER 1om 1 Sv/h 0.20 0.13
smomme FEZEE 1cm cpm 200
aY A=A cpm
(2b) EHEHREE Im 1 Sv/h 0.15 0.14
E ZERFREER 1om 1 Sv/h 0.14 0.12
smomme FEZEE 1cm cpm 190
aYA—4 cpm
(3a) ZEHEHREE Im 1 Sv/h 0.13
R ZERFREER 1om 1 Sv/h 0.13
22 s REZFE 1cm cpm 150
aYA—4 cpm
(3b) EHEHREE Im 1 Sv/h 0.13 0.13
E ZERFREER 1om 1 Sv/h 0.12 0.11
22 s REZFHE 1cm cpm 170
aYA—4 cpm
(4a) EHEHREE Im 1 Sv/h 0.13 0.13
R ZERFREER 1om 1 Sv/h 0.13 0.12
#_EEow REFHE 1cm cpm 250
aYA—4 cpm
(4b) EHEHREE Im 1 Sv/h 0.14 0.13
2= ZERFREER 1om 1 Sv/h 0.13 0.13
g _zge= FEZEE 1cm cpm 170
aYA—4 cpm
(5a) EHEREFE Im 1 Sv/h 0.14 0.13
PR ZERFREER 1om 1 Sv/h 0.14 0.13
e T REFHE 1cm cpm 140
aYA—4 cpm
(5b) EHEHREFE Im 1 Sv/h 0.14 0.13
2= ZERFREER 1om 1 Sv/h 0.14 0.12
. REFHE 1cm cpm 170

aYr—4

cpm




RIIET®RIE AET—2 ©® FEHakg
CRIE B] 20124511 298 (BREH0) / 20128128148 (BR$E1%)

r&Edam
SRS AT SR B B i Mgk wE
(6a) EREIREER 1m 1 Sv/h 0.12 0.13
R ZERFREER 1om 1 Sv/h 0.13 0.13
sEmEE REZFE 1cm cpm 200
aYA—4 cpm
(6b) EHEREE Im 1 Sv/h 0.14 0.13
2= ZERFREER 1om 1 Sv/h 0.14 0.13
SEMEE FEZEE 1cm cpm 140
aYA—4 cpm
(7a) EHEHREFE Im 1 Sv/h 0.14 0.10
R ZERFREER 1om 1 Sv/h 0.13 0.12
S=Ego= REZFEE 1cm cpm 160
aY A=A cpm
(7b) EHEHREE Im 1 Sv/h 0.12 0.12
E ZERFREER 1om 1 Sv/h 0.12 0.12
g=xge= FEZEE 1cm cpm 140
aYA—4 cpm
(8 ZEHEHREE Im 1 Sv/h 0.12 0.12
R ZERFREER 1om 1 Sv/h 0.13 0.12
BZRA(L REZFE 1cm cpm 200
aYA—4 cpm
9 EHEHREE Im 1 Sv/h 0.12 0.10
R ZERFREER 1om 1 Sv/h 0.11 0.11
L FRAL REZFHE 1cm cpm 160
aYA—4 cpm
(10) EHEHREE Im 1 Sv/h 0.11 0.13
R ZERFREER 1om 1 Sv/h 0.12 0.13
BEEEN AL REFHE 1cm cpm 200
aYA—4 cpm
(11) EHEHREE Im 1 Sv/h 0.11 0.11
R ZERFREER 1om 1 Sv/h 0.13 0.11
438 =2 REFHE 1cm cpm 140
aYA—4 cpm
(12a) EHEREFE Im 1 Sv/h 0.13 0.12
PR ZERFREER 1om 1 Sv/h 0.14 0.11
40185= REFHE 1cm cpm 110
aYA—4 cpm
(12b) EHEHREFE Im 1 Sv/h 0.13 0.13
2= ZERFREER 1om 1 Sv/h 0.14 0.13
40185 REFHE 1cm cpm 130
aYA—4 cpm
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RITET®RIE MET—2 © TER4AE

CRIE B] 20124511 298 (BREH0) / 20128128148 (BR$E1%)

r&Edam
SRS AT SR B B i Mgk wE
(13a) ZEREIREER 1m 1 Sv/h 0.13 0.11
PR ZERFREER 1om 1 Sv/h 0.13 0.12
1o RKEAZE 1cm cpm 100
= aYA—4 cpm
(13b) EREIREER 1m 1 Sv/h 0.12 0.12
E ZERFREER 1om 1 Sv/h 0.13 0.10
o RKEAZE 1cm cpm 80
aYA—4 cpm
(14a) EEREE Im 1 Sv/h 0.12 0.12
R ZERFREER 1om 1 Sv/h 0.11 0.12
o RKEAZE 1cm cpm 110
aYA—4 cpm
(14b) EEREE Im 1 Sv/h 0.12 0.12
2= ZERFREER 1om 1 Sv/h 0.12 0.11
1o RKEAZE 1cm cpm 90
= aYA—4 cpm
(15a) EHEHREE Im 1 Sv/h 0.14 0.13
R ZERFREER 1om 1 Sv/h 0.14 0.12
40285 REFHE 1cm cpm 140
aYA—4 cpm
(15b) ZEEREE Im 1 Sv/h 0.14 0.13
2= ZERFREER 1om 1 Sv/h 0.15 0.11
40285 REZEE 1cm cpm 360
aYA—4 cpm
(16) EEHREE Im 1 Sv/h 0.12 0.11
R ZERFREER 1om 1 Sv/h 0.14 0.14
L FRAL REFHE 1cm cpm 190
aYA—4 cpm
an EEREFE Im 1 Sv/h 0.12 0.13
E ZERFREER 1om 1 Sv/h 0.16 0.12
BERA(L REFHE 1cm cpm 200
aYA—4 cpm
(18a) EEREE Im 1 Sv/h 0.15 0.12
PR ZERFREER 1om 1 Sv/h 0.14 0.12
ER(E) REZFE 1cm cpm 130
aYA—4 cpm
(18b) EHEHREE Im 1 Sv/h 0.17 0.16
E ZERFREER 1om 1 Sv/h 0.15 0.30
B R (E) REFHE 1cm cpm 240
aYA—4 cpm

27




RITET®RIE MET—2 © TER4AE

CRIE B] 20124511 298 (BREH0) / 20128128148 (BR$E1%)

r&Edam
SRS AT SR B B i Mgk wE
(19) EREIREER 1m 1 Sv/h 0.14 0.13
R ZERFREER 1om 1 Sv/h 0.15 0.13
BT (R ) REZFEE 1cm cpm 150
aYA—4 cpm
(20) EREIREER 1m 1 Sv/h 0.14 0.13
R ZERFREER 1om 1 Sv/h 0.14 0.13
EF () FEZEE 1cm cpm 350
aYA—4 cpm
(21) EREIREER 1m 1 Sv/h 0.12 0.12
R ZERFREER 1om 1 Sv/h 0.15 0.12
BT (k) REZFHE 1cm cpm 200
aYA—4 cpm
(22) EEREE Im 1 Sv/h 0.13 0.12
R ZERFREER 1om 1 Sv/h 0.13 0.12
BT (R ) REZFE 1cm cpm 180
aYA—4 cpm
(23a) EHEHREE Im 1 Sv/h 0.13 0.12
R ZERFREER 1om 1 Sv/h 0.14 0.12
o RKEAZE 1cm cpm 140
aYA—4 cpm
(23b) EEREE Im 1 Sv/h 0.14 0.13
=1 ZERFREER 1om 1 Sv/h 0.14 0.13
o RKEAZE 1cm cpm 180
aY A=A cpm
(24) EEHREE Im 1 Sv/h 0.12 0.11
R ZERFREER 1om 1 Sv/h 0.12 0.12
BT REZFHE 1cm cpm 130
Y A=A cpm
(25) EEREFE Im 1 Sv/h 0.12 0.11
R ZERFREER 1om 1 Sv/h 0.13 0.13
B RKEAZE 1cm cpm 190
O A—=ALER) cpm
(26) EEREE Im 1 Sv/h 0.23 0.19
R ZERFREER 1om 1 Sv/h 0.32 0.31
Ry —— RKEAZE 1cm cpm 600
aYA—4 cpm
@27 EEHREE Im 1 Sv/h 0.19 0.18
PR ZERFREE 1om 1 Sv/h 0.30 0.25
JLa=—2 RKEAZE 1cm cpm 1800
aYA—4 cpm
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r&Edam
SRS AT SR By B i Mgk wE
(28) EEHREE Im 1 Sv/h 0.19 017
R ZERFREER 1om 1 Sv/h 0.33 0.28
JLa=—3 RKEAZE 1cm cpm 2100
aYA—4 cpm
(29) EEHREE Im 1 Sv/h 0.19 0.18
R ZERFREER 1om 1 Sv/h 0.32 0.23
S\ La=—a RKEAZE 1cm cpm 2100
aYA—4 cpm
(30) EHEREFE Im 1 Sv/h 0.23 0.19
R ZERFREER 1om 1 Sv/h 1.99 0.30
JLa=—5 REAZFE 1cm cpm 800
aYA—4 cpm
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r&E5R
SHESAT sHEIA % By B i PSS e
) TRBMEE 1m £ Sv/h 0.28 0.22
=af; 3 ERIMEE 1cm 1 Sv/h 0.50 0.40
— HEE 1
= S o REZE 1cm cpm 500
aYA—4 cpm
2 TRIBMEE 1m £ Sv/h 0.14 -
=af; TREEE 1om U Sv/h 0.14 -
X HEE 1
753 Mg REZEE 1cm cpm 140
aYA—4 cpm
€)) TRBMEE 1m £ Sv/h 0.15 0.12
=af; ERIMEE 1cm 1 Sv/h 0.17 0.15
X BEE 1
75 0HE == REZEE 1cm cpm 270
aYA—4 cpm
C) TRE=EE 1m U Sv/h 0.41 0.30
ERIMEE 1cm £ Sv/h 0.53 0.39
B REZEE 1cm cpm 400
aYA—4 cpm
(5) TREEE 1m 1 Sv/h 0.30
ERIMEE 1cm 1 Sv/h 0.48
B2 REFEE 1cm cpm 600
aY A=A cpm
(6) TREEE 1m U Sv/h 0.40 0.35
ERIMEE 1cm 1 Sv/h 0.43 0.40
B3 REZFHE 1cm cpm 750
aYA—4 cpm
@ TRE=EE 1m U Sv/h 0.41 0.33
ERIMEE 1cm U Sv/h 0.43 0.41
oy REFHE 1cm cpm 750
aYA—4 cpm
(8) TREEE 1m U Sv/h 0.45 0.34
ERIMEE 1cm 1 Sv/h 0.48 0.43
EEs REZFHE 1cm cpm 900
aYA—4 cpm
9) TREEE 1m U Sv/h 0.39 0.30
ERIMEE 1cm £ Sv/h 0.48 0.44
EE6 REEE 1cm cpm 620
aYA—=4 cpm
(10) TREEE 1m U Sv/h 0.40 0.31
ERIBMEE 1cm £ Sv/h 0.45 0.40
B REEE 1cm cpm 500
aYA—4 cpm
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T &5
SRS AT SR By B i Mgk wE
(11) EEHREE Im 1 Sv/h 0.49 0.35
R ZERFREER 1om 1 Sv/h 0.57 0.61
He g == REZFEE 1cm cpm 820
aYA—4 cpm
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rERlE28k
SHESAT sHEIA % By B i PSS e
) TRBMEE 1m £ Sv/h 0.10 0.12
=af; 3 ERIMEE 1cm 1 Sv/h 0.12 0.12
. RKEAZE 1cm cpm 70
aYA—4 cpm
2 TRIBMEE 1m £ Sv/h 0.11 0.11
=af; ERIMEE 1cm U Sv/h 0.13 0.11
. RKEAZE 1cm cpm 90
aYA—4 cpm
€)) TRBMEE 1m £ Sv/h 0.14 0.14
=af; ERIMEE 1cm 1 Sv/h 0.11 0.12
. RKEAZE 1cm cpm 160
aYA—4 cpm
C) TRE=EE 1m U Sv/h 0.13 0.13
=af; ERIBMEE 1cm 1 Sv/h 0.13 0.11
. RKEAZE 1cm cpm 70
aYA—4 cpm
(5a) TREEE 1m 1 Sv/h 0.14
=af; ] ERIMEE 1cm 1 Sv/h 0.15
. REFEE 1cm cpm 150
=
aY A=A cpm
(5b) TREEE 1m U Sv/h 0.17 0.20
=4 ERIMEE 1cm U Sv/h 0.17 0.18
. REZFHE 1cm cpm 160
=
aYA—4 cpm
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Fr&msL e
FHRISRT FHRIA B R PRtk e
(5+1) ZERFER 1m U Sv/h 0.40 0.31
3R] ZERFREER 1om 1 Sv/h
B REZE 1cm cpm 260
aYA—4 cpm
(4+2) ZERFER 1m U Sv/h 0.43 0.50
R ZERFREER 1om 4 Sv/h
B REZE 1cm cpm 220
aYA—4 cpm
(41+3) ZERRER 1m U Sv/h 0.52 0.47
Ae{al ZERFREER 1om 4 Sv/h
B REZE 1cm cpm 280
aYA—4 cpm
(4+4) ZERRER 1m U Sv/h 0.42 0.41
AR ZERFREER 1om 1 Sv/h
‘& RKEAZE 1cm cpm 280
aYA—4 cpm
(4515) ZERREE 1m U Sv/h 0.36
R ZERFREER 1om 4 Sv/h
IE RKEAZE 1cm cpm 315
aYA—4 cpm
(416) ZERRMER 1m U Sv/h 0.38 0.35
Fa 1l ZERFREER 1om 4 Sv/h
IE RKEAZE 1cm cpm 295
aYA—4 cpm
4+n ZERRER 1m U Sv/h 0.39 0.36
e fl ZERFREER 1om 4 Sv/h
B/E REZE 1cm cpm 265
aYA—4 cpm
(418) ZERRER 1m U Sv/h 0.45 0.35
R ZERFREER 1om 4 Sv/h
B/E REZE 1cm cpm 310
aYA—4 cpm
(419) ZERRER 1m U Sv/h 0.33 0.29
3R] ZERFREER 1om 1 Sv/h
B/E REZE 1cm cpm 240
aYA—4 cpm
(5+10) ZERRMER 1m U Sv/h 0.31 0.28
Fa 1l ZERFREER 1om 4 Sv/h
HE REZE 1cm cpm 275
aYA—4 cpm
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Fr&msL e
FHRISRT FHRIA B PR PRtk e
(5+11) ZERREE 1m U Sv/h 0.38 0.28
R ZERFREER 1om 4 Sv/h
HE REZE 1cm cpm 260
aYA—=4 cpm
(5+12) ZERRER 1m U Sv/h 0.38 0.28
]| TR EE 1om 4 Sv/h
HE REZE 1cm cpm 240
aYA—4 cpm
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& Rl B2
FHRISRT FHRIA B R PRtk e
(41+1) ZERFER 1m U Sv/h 0.30 0.32
Fa 1l ZERFREER 1om 4 Sv/h
‘@ RKEAZE 1cm cpm 190
aYA—4 cpm
(4+2) ZERFER 1m U Sv/h 0.33 0.36
R ZERFREER 1om 4 Sv/h
‘@ RKEAZE 1cm cpm 210
aYA—4 cpm
(41+3) ZERRER 1m U Sv/h 0.30 0.32
AR ZERFREER 1om 1 Sv/h
‘& RKEAZE 1cm cpm 170
aYA—4 cpm
(4+4) ZERRER 1m U Sv/h 0.29 0.27
Ae{al ZERFREER 1om 4 Sv/h
B REZE 1cm cpm 160
aYA—4 cpm
(4515) ZERREE 1m U Sv/h 0.21
R ZERFREER 1om 4 Sv/h
B REZE 1cm cpm 140
aYA—4 cpm
(416) ZERRMER 1m U Sv/h 0.25 0.26
3R] ZERFREER 1om 1 Sv/h
B REZE 1cm cpm 150
aYA—4 cpm
4+n ZERRER 1m U Sv/h 0.38 0.33
AR ZERFREER 1om 1 Sv/h
HE REZE 1cm cpm 190
aYA—4 cpm
(418) ZERRER 1m U Sv/h 0.30 0.30
R ZERFREER 1om 4 Sv/h
HE REZE 1cm cpm 170
aYA—4 cpm
(419) ZERRER 1m U Sv/h 0.35 0.29
Fa 1l ZERFREER 1om 4 Sv/h
HE REZE 1cm cpm 170
aYA—4 cpm
(5+10) ZERRMER 1m U Sv/h 0.25 0.22
3R] ZERFREER 1om 1 Sv/h
B/E REZE 1cm cpm 150
aYA—4 cpm
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Fr & Bl 5 B
FHRISRT FHRIA B PR PRtk e
(5+11) ZERREE 1m U Sv/h 0.26 0.22
R ZERFREER 1om 4 Sv/h
B/E REZE 1cm cpm 200
aYA—=4 cpm
(5+12) ZERRER 1m U Sv/h 0.30 0.26
AL {al ZERFREE 1om 4 Sv/h
B/E REZE 1cm cpm 170
aYA—4 cpm

40




[iEiIIII&i% NER2?YTQ -— rf%smmz]
<Bl#&>

® v o ¢+ ) @

S ® v

e

¢t @ B ® v

5+10) @ ® ote
® o) @ uis) s @

41



